ARNTEREFSREHFEHT - AOKEFR

TER27%€1 BXRIRE
FH27F1AKHE ] AT AR
R g2 x g X5 T 5 £ B
BRAEEAO 27,399 35,113 37,539 72,652 BARAEEAO 27,364 35,103 37,515 72,618
NEAFRAO 190 239 234 473 NEAFRAO 190 237 233 470
RENTEAAO 27,589 35,352 37,773 73,125 RFENHTAO 27,554 35,340 37,748 73,088
ARAFEER#HE - AOSEEE (IBAEA) BRAGER#HE - AOKLFTER (IBMNBEHET)
TS 2 tEdEy 55 2 % : Tt £ BA % X f5 s 82 g 5 (&) (B#)
xiiiﬂniﬂgté,t KRZEHET 1,081 1,420 1,390 2,810 B — Al =] 252 307 332 639 X% HEE 5 % it X5 HHE B o8 S
RiEHig KiE 793 895 920 1,815 3 /N 123 161 170 331 HeE—TH 804 886 1,008 1,894 wu&aE—THB 42 62 58 120
BT 7 Hh g AHT TG 200 203 227 430 =H 112 146 159 305 m&—TH 557 663 744 1,407 WLUE=TH 0 0 0 0
AT E Hhisg AHETEH 885 987 1,064 2,051 A T S BF 68 86 101 187 HME=TH 263 325 372 697 WLE=TH 0 0 0 0
n o
TR #h i TR 1,042 1,250 1,384 2,634 KE 205 255 247 502 HMEmMTH 202 249 285 534 HILEMTHB 0 0 0 0
=/ Hhis B/E 481 566 604 1,170 EIEFE 18 27 27 54 HWMERTH 773 1,016 1,142 2,158 HWILERTHE 1 1 2 3
K2 A BEELL 196 222 271 493 FAFTHT 173 175 214 389 HMAEKRTH 86 114 120 234 HWILEARTHE 42 66 62 128
\Ba 104 153 151 304 FTET bz Hh#rET 126 141 157 298 WME+TH 187 244 268 512 HWWLUEETE 278 409 400 809
¥ ihiz iR 262 316 362 678 Jt T ET 133 171 160 331 HEE—TH 0 HILE/NTE 0 0 0 0
AR s FiRIL 93 103 138 241 FAHET 180 224 268 492 HEEZ-TH 235 321 322 643 HWILEATHE 0 0 0 0
KE 867 1,010 1,024 2,034 PaHET 16 22 28 50 HEE=TH 7 8 8 16 HLE+TE 104 146 157 303
dt Z FEHhis dtZzE 448 503 515 1,018 = Hhis =a]:iy) 38 32 46 78 HEEMNTH 0 HLE+—TH 15 21 26 47
ot B st R M AR 159 195 193 388 ERHET 102 117 127 244 HEERTH 301 353 406 759 HWLE+=TH 0 0 0 0
i) 0] 189 213 230 443 % 85 87 121 208 HEEBNRTH 174 223 254 477 WWLUE+=TH 4 7 4 1
14 Hhis HE 2,872 3,497 3,939 7,436 R PG 137 152 184 336 HEEETH 349 399 455 854 INET 486 712 709 1,421
HE A HhIE HEE 1,721 2,088 2,318 4.406 AR o EREE—TH 51 57 70 127 HEE/NTH 378 484 523 1,007 A&t 11,736 16,132 17,045 33,177
ARGt KZNE1~4TH 781 979 1,078 2,057 BRE_TH 287 332 364 696 HMESNLTH 277 300 350 650
IRz St Ki2)1485~9TH 1,486 2318 2337 4,655 ERE=TH 47 66 76 142 AZNE—TH 337 410 454 864
M B & Hhig MEE 2,192 3,234 3,306 6,540 Rl 64 63 72 135 KENEZTH 99 124 134 258
M Hhig BxE 2,198 3,304 3,358 6,662 izt 34 23 37 60 RKEINE=ZTH 345 445 490 935
WL A s HWuE 486 712 709 1,421 it 39 51 56 107 RENE™TH 0
=1 18,536 24,168 25,518 49,686 SN 52 3R ER Hh s N E 58 57 60 117 RKEINERTH 242 406 394 800
i INST 75 72 78 150 KZNEBATHE 553 797 792 1,589 (FH)
BARAFREHE - AOSEETF (IHIWLHEET) 447 77 82 103 185 R2NEETH 329 505 519 1024 X4 ik 5 % s
LI 27 38 40 78 REZENE/INTH 362 610 632 1,242 EmxsE—TH 160 204 211 415
T s 4 BB HE g2 8 it HEE 101 110 121 231 RENEATH 0 EmE&E=TH 140 152 175 327
5 F st t#&H 180 248 208 546 fif] U 115 142 150 292 MREE—TH 491 756 725 1,481 EMEE=TH 137 149 177 326
m&H 415 579 607 1,186 AR 99 111 143 254 MWEEZTH 119 191 186 377 AL RN 113 131 146 277
b3 E bz dFEE 394 571 576 1,147 [iic] 45 52 56 108 MEE=TH 239 346 376 722 MANEERTH 54 63 62 125
T E Hhig BAEE 656 885 910 1,795 R Hh iz B 34 39 41 80 WEEMTH 250 350 376 726 EmEE/RTEB 165 189 213 402
HEF 59 58 87 145 ZE R 67 69 87 156 MRERTH 259 393 399 792 Emx&EtTH 152 183 208 391
=58 desal R 132 177 194 371 IhEF 71 81 95 176 MWRENTH 338 479 479 958 EmE&/\TH 187 224 245 469
BH 230 351 375 726 mp 38 47 53 100 WREETH 272 421 437 858 EmEEeETE 185 215 239 454
bl A e 46 48 72 120 IE<B et 36 40 45 85 WRE/NTH 224 298 328 626 EmxE+THE 181 209 233 442
A1 52 76 88 164 b= 36 40 46 86 wBxEE8—TH 253 307 309 616 mEmxEs+—TH 251 302 311 613
LtI¥H2 133 162 213 375 B/ 13 16 18 34 WBES-TH 360 541 520 1,061 mEmEE+=TH 212 277 281 558
FIRdtERHhis +£ir3 71 103 125 228 K 5 6 4 10 BEE=TH 349 556 580 1,136 EmxE+=TH 153 184 201 385
R4 54 69 76 145 isfN 31 42 45 87 BESMNTH 285 430 463 893 mEmEE+mTH 119 151 176 327
+IB5 100 145 143 288 BT+ 21 28 27 55 BEAERTH 369 578 603 1,181 EmEE+ETH 138 182 171 353
i;:j 123 1;§ zg? ?;i 4 2 ik :H:‘;:T: 17 21 22 43 HBEANTH 312 547 537 1,084 A&t 2,347 2,815 3,049 5,864
% 10 14 11 25 BEAEEtTH 270 345 346 691
LIRmER iz LIAs8 95 125 119 244 =% 8 6 10 16 BEE/N\TH 0 0 0 0
i[9 112 137 151 288 R 6 6 5 11 INEE 11,250 15,420 16,336 31,756
+¥10 89 109 129 238 | 14 11 16 27
HE X4 29 29 31 60 P 32 45 51 96
SERX 5 5 6 11 A 48 58 76 134
ot =[=X)N 74 60 69 129 FnE A this mmnxs 2,347 2,815 3,049 5,864
=51 3,142 4,202 4553 8,755 &t 5,721 6,743 7,468 14,211




